
Franklin, who loves beer, went to Germany to complete his collection of beer mugs. In each city he visited, he bought one mug,

and decided to only use that mug to a speci�c beer type. How big is the mug he bought in Dortmund?

1. The mug for dark beer holds twice as much as the red mug.

2. Exactly one of the beer types has the same initial as the

city its mug was bought in.

3. The white mug holds 50 cl or was bought in Dortmund.

4. The mug for creamy beer is exactly one size larger than the

mug from Essen.

5. The black mug isn't meant for amber beer, and isn't from

Aachen.

6. The gray mug holds brown beer or is the biggest. However,

it wasn't bought in Dortmund.

7. The red mug is from Aachen or Dortmund. The black mug

is smaller than the gray one.

8. The mug from Berlin is exactly one size larger than the red

mug.

9. The mug for creamy beer doesn't hold 50 cl.
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Franklin, who loves beer, went to Germany to complete his collection of beer mugs. In each city he visited, he bought one mug,

and decided to only use that mug to a speci�c beer type. How big is the mug he bought in Dortmund?

1. The mug for dark beer holds twice as much as the red mug.

2. Exactly one of the beer types has the same initial as the

city its mug was bought in.

3. The white mug holds 50 cl or was bought in Dortmund.

4. The mug for creamy beer is exactly one size larger than the

mug from Essen.

5. The black mug isn't meant for amber beer, and isn't from

Aachen.

6. The gray mug holds brown beer or is the biggest. However,

it wasn't bought in Dortmund.

7. The red mug is from Aachen or Dortmund. The black mug

is smaller than the gray one.

8. The mug from Berlin is exactly one size larger than the red

mug.

9. The mug for creamy beer doesn't hold 50 cl.

© Brainzilla.com
Answers are for teacher and educator use only. Not for

public distribution. For educational settings exclusively.

Play More Logic Grid Puzzles

brainzilla.com/x/logic-grid-puzzles

MORE

HEAD

SCRATCHERS

Beer Mugs
Logic Grid Puzzle

Essen

Dortmund

Berlin

Aachen

white

red

gray

black

Dark

Creamy

Brown

Amber

whit
e

re
d

gr
ay

bla
ck

Ess
en

Dor
tm

un
d

Ber
lin

Aac
he

n

10
0 c

l

66
 cl

50
 cl

33
 cl

ColorCitySize

C
ity

C
ol
or

B
ee

r

© B
ra

inz
illa

.co
m

Dark

Creamy

Brown

Amber

66 cl66 cl

100 cl100 cl

50 cl50 cl

33 cl33 cl

Es��nEs��n

Aac��nAac��n

Be��inBe��in

DortmundDortmund

blackblack

graygray

whi��whi��

��d��d

ColorCitySize

P
la

y
 T

h
is

 L
o

g
ic

 G
ri

d

b
ra

in
z

il
la

.c
o

m
/x

/l
g

p
/5

3

https://www.brainzilla.com/x/main/home/?src=BLGP1H&evt=copyright-footer/click
https://www.brainzilla.com/x/logic-grid-puzzles/?src=BLGP1H&evt=play-more/click
https://www.brainzilla.com/x/main/home/?src=BLGP1H&evt=logo/click
https://www.brainzilla.com/x/lgp/53/?src=BLGP1H&evt=link-widget/click

